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doldl s UL 6L RE2 a2l dR 0.055 cm A4 Reteall useld »id 100 cm 8. dl webigl
BUR s ol usilid 2 qebigdl A drs Hlo xusifiid aast a4 »idz bl usiadl
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dadells 2 9. 6L Bedld a2l 2id d =224 9, dl 4t X-218 U UAH UsAd s2dl 2id2 Hl.

T 51 3
S, (A) 0 (B) T
T 154
s . © - (D) EE
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2 USEL 422 HdR 100 cm 8. UAH U YridH HARe AAAsAHel 5 mm Hd2 1A dl Reexdl
SIS QLML
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(89)

(90)

wiReds Ml Awidl U 60° AL 8L il ad ustad ulaldd Ba Aysl da gdled e
9. dril M2 2uld o aesidl 15 2sid o uldd- Ay 9.

YIReds HIMHAL asloadis sl

(A) 151 (B) 1.73 ©) 161 (D) 141
WIREAS HIMHHL A5loLd sl Sedl Ui,

(A) 30° (B) 60° (C) 45° (D) 50°
wRedls HeH w2 valdd 3ol 4 asloyd (Bl g1 vell Sedl aA.

(A) 45° (B) 30° (©) 60° (D) 90°
aslot (BRRMl % 7 uesl €ld 9,

(A) 85 (B) 15 (©) 100 (D) 70

A AL AsclBrosul 30 cm 9. drll AR Yvu e U 20 cm dl A i ©.

2idollol AL vscowtsS — cm A,

(A) 15 (B) -15 (C) =30 (D) 30
labion »idz — cm A,

(A) =20 (B) =30 (C) 40 (D) —60
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91  ulaodl Heasll sl
(A) 2 (B) 3 (C) -3 (D) 2
92)  ulaldioil usl vudl.

(A) a3, G, *g (B) 2uouRdl, A, €g (C) »ucurdl, Aqld, - (D) w3, G4, -u
5530 uslaml saledl uE 6 cm ol YA 6 cm
Wdnl AB AR vidolon sl He |:|| k— 18 cm
gt U Al dAd qsami 2ud © 5 gl d- ST ; P
ulalior B'A” adlas wa. w30l Y
Segciolls 18 cm €.
93) 2l Yaell B’ vd — cm AL
(A) 18 (B) 36 (©) 30 (D) 24
94) Al Yool A dld — cm AL
(A) 30 (B) 4 ©) 32 (D) 45
(95) A’-;L Pl »id2 _ cm.
(A) 27 (B) 30 (C) 24 (D) 45
96)  ulabiodl dousS — cm HAL.
(A) 12 (B) 27 ©) 9 (D) 6

553 @ ol w6 R4e 42 2idR 0.1 mm dal Raeal ugeld »id2 1 m 8. % usia-l diadons

5000 A < d,

7)o s[s uslid adispil a2 vid L.

(A) 5cm (B) 5mm (©) 10 mm (D) 10 cm
98)  llo usilid wdisid qere aaistel seld »ide _ rad €4l
(A) 0.15 (B) 0.075 (©) 0.030 (D) 0.015

(99) 2l 2usd welsid R sl vidz gkl
(A) 1.75x102% m (B) 1.75 mm (©) 35x1072 cm (D) 3.5 mm

(100)  aastl uglous skl

(A) 025 mm (B) 2.5 mm (C) 5mm (D) 0.25 cm

gawll : 85 (B), 86 (A), 87 (D), 88 (C), 89 (B), 90 (D), 91 (C), 92 (A), 93 (B), 94 (A),
95 (D), 96 (C), 97 (B), 98 (D), 99 (A), 100 (D)
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I REEEICT ERTEN]
(101)  idalior »i2ul Srsdous 10 cm & dl

siau-1 5lau-2
g 2 wlalbio vid2 A)a—->pb-ogecornd—os
) | 5cm @ | Ralfd, Glag, 2. B)a—sb->rnc—pd-gq
. . ) ) ©a—-qgb-ospc—ord-—os
() | 15cm (@ | 9=qd wed, Glag, A3
. D)a »s,b—>pc—qdor
() | 20cm () | e, Aly, el
@ | 25cm (s) | [Aalfa, A4, 2eud
(102)
slan-1 SlAu-2
(@) | dodl ot Raesdl uuLoL () | >RAes Gearmad
(b) | Geadl & %Al dxil swelld 2ugkizil gel €. (@ | ydots Gearuad
(c) | dRoiuui e3s Big Geamauq a3 ad 9. () | dwdusudl Rgid
(d) | 58 2AU-ldR €25 dRoL 943 Bedadl adat (s) | 1ol Rugld
UL U2 AL wed 9.
(A) a—>p b—r c—q d—>s
B) a—>gq b—>p c—s d >r
C) a—>p b>q cC—r d > s
D) a—>r b—-p c > S d 5q
(103)
siau-1 SN2
oY nv B nr
(a) | sl [Qcieg ) —
(b) |wdoll B @ | 8, -8
(c) |[acu alsa ™ | A(n-1)=A"(n"-1)
(d) | [Qadd a2z [Qeus- (s) | 8=A(n-1)
ol Moy M2

(A) a—>q b —s c—p dor
B a-»>p boq corT d > s
C) a—->p b —s c—q d—o>r
D) a—s b—q c o d—->p
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(104)

slan-1 SLAH-2
(a) | owexdl [un () | I=1I,cos’d
(b) | a-dl FRax @ | xx,=s"

R sin 61

(©) | el Hun (1) Sin 0, =y
d) | dertd ulsm (s) | n=tanb
(A) a—>p b —>s c—r d—gq
B) a—q b—p c—>r d > s
€ a—>s b >c Cop d > q
D) a—os b —>q cC—>r d>p

(105)  oifeolon A=usll Srgdons £ 8. sl - THL d-f [Acuo dal Adlg- oldidd 8 2 siad - 114
Al FrsdonsS saldd © dl Aoy d Al

siau-1 S1AU-2

(a) QU @ |2f

(b) < @ |f

©) Q W |2

(A) a —>s b—p c—>q do>r

B) a—->p b —>q C o d>s

C) a-—>q b—>r cC — s d—>p

D) a—->r b —s c—q d—>p

gawll : 101 (D), 102 (B), 103 (A), 104 (C), 105 (A)
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